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36 (= 9) points on ring
12 (= 3) wraps of primary (red)
12 (= 3) wraps of secondary (blue)
24 (= 6) total wraps

Raising a number to powers… x^1, x^2, x^3, x^4, x^5, x^6, x^7, x^8, x^9, … .

Red wrap pattern (x=7) => 1 7 4 (= 3)
Blue wrap pattern (x=7) => 1 7 4 (= 3) when shifted by 1 => 2 8 5 (= 6)
Empty wrap pattern = 3 9 6 or 3 6 9 (= 9)
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Raising a number to powers… x^1, x^2, x^3, x^4, x^5, x^6, x^7, x^8, x^9, … .

Red wrap pattern (x=7) => 1 7 4 (= 3)
Blue wrap pattern (x=4) => 1 4 7 (= 3) when shifted by 1 => 2 5 8 (= 6)
Empty wrap pattern = 3 9 6 or 3 6 9 (= 9)

36 (= 9) points on ring
12 (= 3) wraps of primary (red)
12 (= 3) wraps of secondary (blue)
24 (= 6) total wraps
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72 (= 9) points on ring
24 (= 6) wraps of primary (red)
24 (= 6) wraps of secondary (blue)
48 (= 3) total wraps

Raising a number to powers… x^1, x^2, x^3, x^4, x^5, x^6, x^7, x^8, x^9, … .

Red wrap pattern (x=7) => 1 7 4 (= 3)
Blue wrap pattern (x=7) => 1 7 4 (= 3) when shifted by 1 => 2 8 5 (= 6)
Empty wrap pattern = 3 9 6 or 3 6 9 (= 9)
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72 (= 9) points on ring
24 (= 6) wraps of primary (red)
24 (= 6) wraps of secondary (blue)
48 (= 3) total wraps

Raising a number to powers… x^1, x^2, x^3, x^4, x^5, x^6, x^7, x^8, x^9, … .

Red wrap pattern (x=7) => 1 7 4 (= 3)
Blue wrap pattern (x=4) => 1 4 7 (= 3) when shifted by 1 => 2 5 8 (= 6)
Empty wrap pattern = 3 9 6 or 3 6 9 (= 9)



Raising a number to powers… x^1, x^2, x^3, x^4, x^5, x^6, x^7, x^8, x^9, … .
x values Resulting value My interpretation
2 2,4,8,16,32,64,128,… 2,4,8,7,5,1,2,… clockwise infinity
3 3,9,27,81,243,729,… 3,9,9,9,9,9,9,… migrates to perfect / stable
4 4,16,64,256,1024,… 4,7,1,4,7,1,4,… clockwise triangle
5 5,25,125,625,3125,15625,78125 5,7,8,4,2,1,5,… counter clockwise infinity
6 6,36,216,1296,7776,… 6,9,9,9,9,9,9,… migrates to perfect / stable
7 7,49,343,2401,16807,… 7,4,1,7,4,1,7,… counter clockwise triangle
8 8,64,512,4096,32768,… 8,1,8,1,8,1,8,… oscillation (shield of 9?)
9 9,81,729,6561,59049,… 9,9,9,9,9,9,9,… perfect / stable
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Basic Numerology rules
1) Take a number and add all its individual digits together.
2) If you have more than one digit in the resulting number repeat step 1.
Examples:

8 => 8
16 => 7
49 => 13 => 4
123456 => 21 => 3

Just a Thought
Pulsing the coil at 7.83Hz is said to have good effects.

783 => 9      a perfect / stable number.

Hmm… . Coincidence?


